Simplify the following. Use counters if needed.

3(2) +3(3) + (-5) + 4

S+3+4(1+-1)+(=3)+(-3)+3(5+(-2)) +1

Simplify the following. Use counters if needed.

3(2) +3(3) + (-5) + 4

5+3+4(1+-1)+(=3) + (-5) + 3(5 + (-2)) + 1

Simplify the following. Use counters if needed.

3(2) +3(3) + (-9) + 4

5+3+4(1+-1)+(=3) + (-5) + 3(5 + (-2)) + 1

Simplify the following. Use counters if needed.

3(2) +3(3) + (-95) + 4

5+3+4(1+-1)+(=3) + (-5) + 3(5 + (-2)) + 1

Simplify the following. Use counters if needed.

3(2) +3(3) + (-5) + 4

5+3+4(1+-1)+(=3) + (-5) + 3(5 + (-2)) + 1

Simplify the following. Use counters if needed.

3(2) +3(3) + (-35) + 4

5+3+4(1+-1)+(=3)+(-5)+3(5+(-2)) + 1




